
 

 

 𝑠𝑖𝑛 𝐴 = −
3

5
, 𝑐𝑜𝑠 𝐵 =

5

6

 𝑐𝑜𝑠(𝐴 − 𝐵)

 𝑠𝑖𝑛
𝐵

2

 𝑐𝑜𝑡 𝑥 − 𝑠𝑖𝑛 2𝑥 = 𝑐𝑜𝑡 𝑥 𝑐𝑜𝑠 2𝑥.

4 𝑐𝑜𝑡 𝑥 − 4 𝑠𝑖𝑛 2𝑥 = 𝑐𝑜𝑠 2𝑥 0 ≤ 𝑥 ≤ 𝜋

 𝑠𝑖𝑛(𝑥 − 30°) = − 𝑐𝑜𝑠(𝑥 + 60°)

 𝑥 0° 360°

4 𝑠𝑖𝑛(𝑥 − 30°) + 𝑐𝑜𝑠(𝑥 + 60°) = 1

 𝑠𝑖𝑛(𝑥 − 30°) =
1

2
(√3 𝑠𝑖𝑛 𝑥 − 𝑐𝑜𝑠 𝑥),

𝑠𝑖𝑛 15°.

 𝑎3 + 𝑏3.

𝑠𝑖𝑛3 𝑥+𝑐𝑜𝑠3 𝑥

𝑠𝑖𝑛 𝑥+𝑐𝑜𝑠 𝑥
= 1 −

𝑠𝑖𝑛 2𝑥

2
.

𝑠𝑖𝑛3 𝑥+𝑐𝑜𝑠3 𝑥

𝑠𝑖𝑛 𝑥+𝑐𝑜𝑠 𝑥
= 1 − 𝑠𝑖𝑛2 2𝑥 0 ≤ 𝑥 ≤ 𝜋

 

ℎ = 𝑎 𝑐𝑜𝑠 𝑏𝑡 + 𝑐,

3𝜋



 

 

E 

ℎ = 𝑎 𝑐𝑜𝑠 𝑏𝑡 + 𝑐 0 < 𝑡 < 6𝜋

 

𝜃° ∠𝑉𝑇𝐸 =

90°

𝑑 = 14 𝑠𝑖𝑛 𝜃 + 8 𝑐𝑜𝑠 𝜃.

𝑑 𝑅 𝑠𝑖𝑛(𝜃 + 𝛼), 𝑅 > 0, 0° ≤ 𝛼 ≤ 90°.

𝑑 𝜃.

𝜃 𝑑 = 13.



 

 

20 + 3√11

30

√3

6

𝜋

4
 ,

3𝜋

4
 , 1.33

49.5°, 190.5°

1

4
(√6 − √2)

(𝑎 + 𝑏)(𝑎2 − 𝑎𝑏 + 𝑏2)

0 ,
𝜋

2
 , 𝜋   𝑜𝑟   

𝜋

12
 ,

5𝜋

12
 

𝑎 = −25, 𝑏 =
2

3
 , 𝑐 = 35

𝑡 = 2.78

𝑑 = 2√65 sin(𝜃 + 29.7°)

2√65  , 60.3°

24.0°


